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I. Fill in the blanks with the correct answer.                                                    (3)                                  

1) If 9,27,123 – 92,368 = 8,34,755 then 9,27,123 – 8,34,755 = _________________.   

2) 79,990 + ___________= 80,000. 

3) 2,35,926 – __________________ = 2,35,926. 

4) 99,999 + ___________________ = 1,00,000 

5) The number which is 1,000 less than 8,76,543 = _________________. 

6) 2,400 + 600 = _____________ 

II.  i) Arrange the following numbers and find their sum.                           (2 + 2) 

       67,901 + 78,256 

   

 

 

 

 

ii) Arrange the following numbers and subtract. 

      6,88,905 – 4,56,784 
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III. Check if the difference obtained here is correct or incorrect.     (1 × 1 = 1)                      
                   4,56,301 – 67,888 = 3,88,403 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

The answer is _______________ (correct / incorrect) 

IV. Solve the word problems given below.                                                    (2)  

1) Pramod earns ₹ 48,450 a month His wife earns ₹ 39,850 per month. How much do 

they earn together in a month? 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 
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